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19nov12 Averaged data and fit for CalDeFlection/Tsys on abs polA

= DataFit | E
= fitRms :0.00070 FractUsed:0.87 dataSet: 0 3
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19nov12 Averaged data and fit for CalDeFlection/Tsys on abs polB
= fitRms : 0.00062 FractUsed:0.84 dataSet: 0 E
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19nov12 Averaged data and fit for CalDeFlection/Tsys on Sky polA
- fitRms :0.00152 FractUsed:0.38 dataSet: 0 i
- fitRms :0.00157 FractUsed:0.37 dataSet: 1 E
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19nov12 Averaged data and fit for CalDeFlection/Tsys on Sky polB
— fitRms :0.00121 FractUsed:0.34 dataSet: 0 =
- fitRms :0.00113 FractUsed:0.35 dataSet: 1 E
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19novi2Cal in Kelvins Vs freq polA

Cal from Ratio Abs ,SKy ]
Cal from Absorber ]
Cal from Sky o
Treceiver 7
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19novi12Cal in Kelvms vs freq poIB
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19nov1 2Cal in Kelvins polA,B overplotted Average dataset fits

polA —
polB
* 5 Mhz samples .
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